
 Package contents M6 Joint x 1, M6 Joint Cover x 1,
  M4 Flange Screw x 4, Spare O-ring x 1 (for Direct Base III), 
  M4 Allen Wrench x 1, Washer (white) x 2 (incl. spare x 1)
 Material Corrosion resistant aluminum alloy, Polycarbonate, 
  Polyoxymethylene, Stainless, Rubber
 Dimensions φ30mm(Max.) x H: 22.1mm (with being attached on compatible arm),
  φ1.2’’(Max.) x H: 0.9’’ (with being attached on compatible arm)
 Weight 24.3g (air) / approx.15g (u/w)
  0.9oz (air) / approx.0.5oz (u/w)
 Compatible arm Stick Arm XS/SS/S/M/L Body, Multi Ball Arm S/ML/L/LL/XL Body,

●Attach M6 Joint on compatible arm.

The M6 Joint is an optional product to attach Direct Base 
III on Stick Arm Body or Multi Ball Arm Body.

Note:The Direct Base III combined with an arm via this product, 
can hold single strobe or 2 x LED flashlights with a Clamp 
but not able to accept any heavier combination like a strobe 
and an LED flashlight together, three or more LED flashlights 
or attaching single strobe or 2 x LED flashlights via arm with 
2 x Clamps.

Sandwich  compat ib le  arm 
between the M6 Joint Cover and 
M6 Joint as show in the illustration 
so that positioning pins of those 
two parts seat in positioning hole 
of the compatible arm.

❶

Tighten

Check that the M6 Joint and M6 
Joint Cover have been matched 
without gap and securely attached 
on the compatible arm, then fix 
them with supplied M4 Flange 
Screws.

❷

●Installing Direct Base III

Compatible arm (Illustration shows Stick Arm S Body)

M4 Allen Wrench

Put the Direct Base III on the back surface of the M6 Joint so that 
notches of the M6 Joint accept protrusions of the Direct Base III as 
shown in the illustration below.

M6 Joint Cover
M6 Joint M4 Flange Screw

Washer (white)

※DO NOT tighten too much to
  avoid accidental damage.

Features

M6 Joint

http://www.inon.jp/　e-mail.support＠inon.co.jp

2015.2

INON Inc.　2-18-9, Dai, Kamakura, Kanagawa 247-0061 JAPAN　fax. +81(0)467-48-2178

How to attach

Specifications

●

Unscrew the M6 Cap Screw of the 
Direct Base III by supplied M6 Allen 
Wrench to remove the M6 Cap Screw, 
M6 Spring Washer (*1), and an O-ring.

Put the supplied Washer (white) x 1 on the removed 
M6 Cap Screw then put it back on the Direct Base III 
with removed M6 Spring Washer (*1) and O-ring 

DO NOT use a washer supplied with other product.

❸

Direct Base III

Washer(white)

M6 Cap Screw
 (Direct Base III)

O-ring

M6 Spring Washer as well. (Direct Base III, *1)

❷

❶

Rubber Spacer
(supplied with Direct Base III, *1)

Direct Base III

(Direct Base III)

*1 The Direct Base III shipped before September 19, 2012 does not 
require installation of the Rubber Spacer or M6 Spring Washer.  
Those Direct Base III shipped before September 19, 2012 carry 
M6 Cap Screw hole diameter 10mm/0.4in while other Direct 
Base III have 12mm/0.5in.

Prepare Direct Base III

Tighen

Attach a Rubber Spacer (*1) 
(supplied with the Direct Base III) 
on the circular groove of the 
bottom part of the Direct Base III 
as shown in the image.

Loosen

M6 Allen Wrench
 (comes with the Direct Base III)

Direct Base III

Compatible arm 
(Illustration shows Stick Arm S Body)

Tighten

Make sure to re-tighten 
when you observe any of below;
・  A gap between the Direct Base III and M6 Joint.
・  Direct Base III is not upright against mounting plane.

※ Tighten firmly and completely 
     by holding long side of the Allen Wrench 
     with hand.




